P3: Integer exponent and scientific notation

(0.00002)(6.9x108)

3 in scientific notation, is equal to

1. The expression

A) 6 X 102
B)6 X 10

C) 3 x 102
D) 2 x 102
E) 6 X 1072

6
5 1 (12800)(2x108)

=mX 10", thenm +n =
0.0064

A) 16
B) 13
C) 15
D) 14
E) 12



3. M =-2"2.(—4)%and N = —% + 1.6, then the distance between

M and N is equal to

3(x4y—1)—1(_2x—2)—2
(271y—2)2

4. Ifx #0,y # 0, and = kx%y?, thenk +a+b =



(1.6x10%)(5.1x1075) i

5. The decimal notation of the expression > ,
4.8x10

A) 0.00017
B) 0.000017
C) 0.0014
D) 140000
E) 0.0017

6. LetA = 0.0018,B = 400000, and C = 0.0002. If% is written in

. g . AB
scientific notation, then =

A) 3.6 X 10°
B) 36 x 10°
C) 3600000
D) 1.8 x 10°
E) 18 x 10°



3—2 —-3\—2 m,,n
If(x273;y) =x3,f ,thenn+m+k =

A) 13
B) 6
)3
D)5
E) 11

8. The number (=272 + 37 1)"lisequal to



(6.9%102%°)(7.5x10714)

9. The number
0.023x1016

written in scientific notation is given

by

A) 2.25 x 107

B) 22.25 x 10°
C) 2.25 x 1072
D) 0.225 x 10*
E) 2.25 x 107>

3N,,2N
10. If (x—xm—;;nﬂ) = xAn+Bnd+D’ thenA+ B+ D =

A) 4
B) 2
C) -4
D) -3
E) 7



11.1f 2*71 = y, then 23%72 =

A) 2y3
B) 4y3
C)y*/8
D) y*/4
E) y®/2

12.1f p # 0, then which one of the following statements is FALSE

A) —3p° = -1
B) 3p° = 3
Q) (-3p)° =1

D) -(3p°) = -3



1

+q

-1

13.If p = 3 and g = 2, then the value off__— =

14. Gr-5y2)2

9y

4x

E) 36xy

(=2x*)2(xy) 7% _

(ra

-1



(210000)(4x10~12)
0.000028

15.1f

=m X 10" (in scientific notation), thenm + n =

A) -2
B) 1

16.Let A = 0.0000021,B = 200000, and C = 8.4 x 107", If% =

5% 103, thenn =

A) 5



0.7x1073

17.If — = A x 107 is written in scientific notation,
(~1.4x1076)(~1000)

then A+ B =

A) 2

(16000)(4.5x10™%)
0.048 -

19. In scientific notation, the number

A) 15 x 102
B) 1.5 x 103
C) 1.5 x 107
D) 1.5 X 1072
E) 15 x 1072



20. (1.3 x1073) + (12 x 1071%) =

A)2.5x 10713
B) 25 x 10713
C)3.5x 10713
D) 13.3 x 10727
E) 2.5 x 10727

21.(1.1)2-2(1.1)(09) + (0.9)2 =

A) 4 x10-2
B) 2 x10-4
@) 4 x10-1
D) 2 x10-2

E) 2 x10-1



